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» SHRI VIDHYABHARATHI
MATRIC. HR. SEC. SCHOOL

SAKKARAMPALAYAM, AGARAM POST, ELACHIPALAYAM, THIRUCHENGODE TK, NAMAKKAL DT - 637 202.

Cell : 99655-31727, 94432 31727
S.S.L.C PUBLIC EXAM - APRIL 2025

SSLC - MATHEMATICS - ANSWER KEY MARKS: 100

PART - I (Marks 14)

Choose the correct answers: 14x1 =14

Q. No. Option Answer
1 C {4,9, 25,49,121}
2 a m™"" (Creative)
3 Cc 0<r<b
4 a 0
5 b 5
6 d row matrix
7 b point of contact
8 d 7x=3y =0 (Creative)
9 b 1
10 d 60°
11 d 136 7 cm
12 a e

3
13 a P(A)>1
14 d 4
5
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PART -1l [ MARKS :20]

Answer any TEN Questions [Question No. 28 is compulsory]. 10x2=2
Each questions carries 2 marks. 0
15 | B={2,3,57} 1
AxB ={(1,2),(13),(15),(1,7),(2,2),(2,3),(2,5),(2,7).(3,2),(3,3),(3,5),(3, 7))} 1
16 | fog= flg(x)]= f(x°=2)=2(x*-2)+1=2x"-4+1=2x"-3 .
gof =g[f(x)]=g@2x+1)=(2x+1)°-2=4x"+4x-1 1
17 | - 532=21g+r = 532=21x25+7 1
. Number of completed rows = 25
1
| Number of flower pots left out = 7|
18 1_3 1‘3 ¥ .1'3 =" _1*3
+ = — =
X—y y—X X—y Xx-—) T, 1
) (@) (X +xv+H)
X~y
3 3
X ’ 2 2 1
! + } =X +xv+v
x— Yy &Y= x
19 (5 3)
AB =
s o) '
4 2
B A ( A 1
L5 10J
~ AB # BA
20
pyunr, 2 A8 oy 2 6 .
DC AC 3 AC
9 1
AC =—=45cm
2
SHRI VIDHYABHARATHI MAT.HR.SEC.SCHOOL, SAKKARAMPALAYAM. 99655-31727 Page 2

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com
21 Vv, — ¥, 3—a -1
—— = —— (or) =i— 1
1:"\ - '-‘Il'.l 2 9+ 2 2
17 1
6-2a=-11 = |~a=—
e
22 1 1 —6 . y
= =— . m,=——=—2 a:]’b:_Q;a'z:b’bzz‘;
m, 5 y * 3 3 1 1 1
(or) aa,+bb,=6—6=0
m, X m, = —X (—2)=-1
: “ _ The lines are perpendicular. 1
The lines are perpendicular.
23 o ‘\B l 3
tan30 = — = S0V 1
BC V3 d
o 1
d = S0V3xyJ3 = 50x3= 150m.
24 / 3 3
v ABE [y [4]3_64 1
v % 3 ) \7 343
] 1
.+ Ratio of the volumes = 64 : 343
25 . - :
C.S.A. of the frustum = (R + r ) / sq. units 1
22 550
=S X (A+1) XS = = 78.5714.... = 78.57 cm’ 1
- y
” Largest value L = 28; Smallest value S = 18
Range R=L-§
1
R =128—-18 = 10Years.
Range = 10 Years 1
27 Total number of flowers = 80+70+30=200 1
n(S) =200
i .80 _ 2 1
F)=80= - P(F)= — = ¢
n(¥) (r) 005
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\/;,2 2,3V2,4 2,5\/2_ ...............
SRS N - -SRI oY N -
SN~ - Y~ -~ -y

28

Lt -t =t -t =t -t =t —t, 1
The given sequence is an A.P. 1
..Common difference = \/2_ (Creative)
PART - 11l [ MARKS :50]
Answer any TEN Questions [Question No. 42 is compulsory].
Each questions carries 5 marks.
29 1
A={,2,3,4,56,7}, B={2,3,5,7}, C ={2}
LHS:(Am B):{2,3,5,7} 1
(AN B)xC={(2,2),(32),(5:2),(7,2)} covvrrrrrrriins (1) 1
RHS :(AxC)={(12),(2,2),(3,2).(4.2).(5.2).(6,2),(7,2)}
1
(BxC)={(2.2).(3.2).(5.2).(7.2)]
(AxC)n(BxC)={(2,2),(3,2),(5.:2) (7,2)} verveeririrnnn. (2) 1
(1)=(2). Hence proved.
30
F@2)=0.f($)=1F(6)=2.,(10)=4,f(12)=5 1
(i) Set of order pairs :
f=1(2,0), (4, 1,(6,2), (10, 4), (12, 5)} 1
(ii) Table : x 2 4 6 10 12
f(x) 0 1 2 4 5 1
(iii) Arrow diagram : A B
f
=N 1
=
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(iv) Graph
I-.lllI
18
18
1s
T w4 o 1
1, :
13 (6.2
11 4. 1) .
11 2o .
x 1 2 3 4 5 § 3 0 10 I I2
31
113400 = 2 x 2 x 2 x 3 x I xFIxIxhxbhx7 1
113400 =23 x 3% x 52 x 71
p,=2,p,=3.p,=5.p,=7and 2
11=3 X, = ..1'3=2 14=] 2
32 5 nn+1)(2n+1)
En= ‘ 1
6
6 7 _S’_ ...... *21’ :(13_22_3__ ...... _Lzl’) (13 24+ *,;1) 1
24X 22%43 Sx6x11
6 6 1
= 3311-55 1
LR+ +82+... Yo Of)s6 1
33 (2-2+0 —-148+2) (0 9)
AB = =
L4+1+o —2—4+2J Ls —4J 1
AB) QY (1)
( )—Lg _4J 1
(1 2)
L (2 10y | 2
B:Ll . ZJ;AZZ -1
{1 1
. . (2-2+0 4+1+0 ) (0 5) 1
B'A :L J:L J ------- (2)
-1+8+2 -2-4+2 9 -4
From (1) and (2), (AB) =B'A’
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34 | Statement 1
Figure 1
Given, To prove , Construction 1
Proof 2
Note :- If No figure then only marks allotted for statement

35

1(-4 -3 3 2 —4 :
— =28 sq. units 1
2|1-2 k& 2 3 -
1 | 1
E[(—4k+6+@—4)—{_ﬁ+3k—4— 12)] =28
(dk+6+9-4)—(6+3k—-4-12)=56 1
(11 —4k)-(3k-10)=56 1
21-Tk=156
o Tk=-35
S k=45 1
36 a+b=7 Db=7—a 1
T T = (1)
a p a T—a 1
line pass through the point (—3,8),
—3 8 _ - -
—+ =1 = -3(7-a) + 8a = a(7-a)
a T—a
a* +4a—21=0 1
(a—3)(a+7)=0 = a=3 or a=—T 1
Since a is positive, we have a = 3and b =7-a=7-3 =4.
2, Y1 (From(D)
3 4
4x + 3y — 12 =0 is the required equation. 1
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37 ,
sin’® 4+ cos® 4 N sin® 4 —cos’ 4 _
sin 4+ cos A sin A4 —cos A
(sin 4+ cos 4) .(5i111 A—sin Acos 4+ cos’ .»1]
B sin 4+ cos A4 2
(sin.4—cos4) .(5;1'112 A+sin Acos A+ cos’ 4)
sind—cos 4
=(l—sinAdcosA)+ (l+sindcos A) 2
38
For Cylinder,
Diameter = 3 cm |, Radius = % cm =15¢cm
Height of the Cylinder &y =12-4=8 cm
For 2 Cones, Radius = % cm =15cm
Height i2 = 2cm 1
". Volume of the model = Vol. of Cylinder + 2 (Vol. of Cone)
—r2h 221 2p ] G420 _22 3 3 2001
=ar<h +2 zar<h, | =gyl 2 ==y £
hy 3 hz; . :khl+3h2j: 7 KEXEX[S+E(E)J 2
3
.. Volume of the model :%XFS_E-:: 33x2=66 cm 2
39
R=16cm :r=2cm
_Volume of metallic Sphere
Volume of Small Sphere 1
4 gr[RS 3
= ? . =R_3=16><16><16 — 88x8 3
: I%2%2
Amﬂ rd 2x2x2
.. Number of Small Spheres =512 1
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40 Sathva Vidhya
— 460 — 480
_TI = T 2 .T} =
N — 2
"X =02 Soxy =96
,‘.C.V1=i><l{]{] :ﬂxl{}{} S CV, =5 1
X Q2
2.4 !
SOV, =22 %100 === x100 |-CVy=25 1
TX Q6
C.V,<CV,
. Vidhya is more consistent than Sathya. 1
41 Total number of balls = 5+6+7+8 = 26, niS) =26 1
(i) white : Number of white balls =6, n|A)=6
(4 3 1
D=5 =261 313
(ii) black or red : Number of blackandred balls =8 + 5 =13, n(B) = 13
pBy="nB) - 13 _ 1 _1
B =Y T2 2 PO =3 1
(111) not white
@=1-P@=1 - Z= 1525 = = p@)= 10 1
13
(iv) neither white nor black
Number of balls which is neither white nor black balls = 7+5 = 12
n(C) = 12
_nC) _12 _ 6 - 6 1
Py ="C) _ 12 _ 6 | P(C)
© n(S) 26 13 13
(x-1)°+(x=-2)+(x-3)°=0
X2 —2X+1+ X —4X+4+ X —6X+9=0 1
3x*-12x+14 =0 1
42 a=3,b=-12,c=14 1
A=b’-4ac=144-168=-24 1
A < 0... Equation has no real roots. (Creative) 1
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PART — IV [ MARKS : 16 ]
Answer All the questions. Each questions carries 8 marks 2x8=16
43(a) Ea
£, 1
- . 7‘ﬁA
oy~ ,_——//‘;“‘,‘."‘.- ]
ke - s / |
. /f/__/'/ "" /
B\ 80° Sem G /1D 7
\F
(OR)
Rough Diagram

43(b)

L
ﬂcm.ﬁ
! lem ™
[
D'L'I | P
\lcm Y
1

11 cm I||
%

-~
-

PA=PB=10.2 cm

(or) 10.3 cm

/

-

Page 9
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¥
Let y=x"—9x+ 20
44(a)
X -2|-1| 0 1 2 3 4 3 & 7
. |41 o | 1] 4|9 |16]| 25| 3 |40
— 0Oy 13|19 |0 |-9[—-18|-27|-36|—-45|—-54|-063
20 2020 20| 20| 20 20 20 20 20 20 2
1}':I2_
} 42 | 30 | 20| 12 B 2 0 0 2 6
Ox + 20:
F 3
Y
e la
JZ Scala
(-1,30)% x-axis: 1om = 1 unit
y-axis: 1cm = 4 units
-
fa Wa oI}
Ay il
1&
17
121 X\0:12) 4+1
8
4
e
x5 4 3 2 -1 01 1
A
£
=12
-16
A0
=LA
=24
28
vy
The curve cut the x-axis at the points (4,0) and (5,0)
Solution : {4,5} 1
The equation has Real and unequal Roots.
SHRI VIDHYABHARATHI MAT.HR.SEC.SCHOOL, SAKKARAMPALAYAM. 99655-31727 Page 10

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

Let x be the time taken in minutes and y be the distance travelled in km.

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com

44(b) | Time taken x (in minutes) 60 120 180 240 2
Distance y (in km) 50 100 150 200
(i)Observe that as time increases, the distance also increases. The
variation is a direct variation. It is of the form y = kz.
Constant of variation % — ¥ — 80 _5
z 60 6
b
6
L Ly £
| | | { i Scale s
[ Jiiii | | | |vaxis1cm= 30 mins
| S5 7~ V] i s | i g I lyaxis 1 cm =50 km
L350 2+1
| § 500 — e %
| £ e i e 1
B gd S S S0 s S | T W
| ] (180} 150) |
100 st L Fi i i
7% T (120, 100) |
T .50) 4 g
XT 9 3 60 50 120 130 180 210 240 270 300 330 360 390 |
< “Tirme (in minutes)
Yy | | i ’
S i 57 . " i B B
(i) Constant of variation % — b 1
6
(ii) From the graph, z =90, then y = 756 km 1
(iii) From the graph, y = 300 then £ =360 minutes (or) 6 hours. 1
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MARK ANALYSIS

(WITHOUT CHOICE)

PART | Questions | o dions | Ouestions | Questiong. | Marks
I 1 Mark 14 12 2 14
I 2 Marks 14 13 1 28
1 5 Marks 14 13 1 70
IV | 8 Marks 4 4 - 32
Total Marks 135 9 144
Percentage 93.7% 6.3% 100%

SAKKARAMPALAYAM , AGARAM (PO) ELACHIPALAYAM

TIRUCHENGODE(TK), NAMAKKAL (DT) PIN-637202.

Cell: 99655 31727
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No. of Printed Pages : 11

=3
= ‘

Carrs ™ 2405502 L
IR o+ efinms ]z 9] [4]0]a

Part - III
senfls / MATHEMATICS

[T

[T

24

e Heme] : 3.00 wenfl CHy ] ‘ [ Qurés wHuGuarser : 100
Time Allowed : 3.00 Hours | ; [Maximum Marks : 100

(8D LHOIL ridla auyfl / Tamil & English Version)

SNeyeorseT : (1) Soasg lamss@Esn sfurs oiFsL uglmrréil 2 GTETSHT 6T ETLISEn e
sflurisgs G&marareb. @w&uuﬁaﬂm GopulpLber ons
SETHTERTLILITEiflL_LD 93_1_m|q_u_|rras Gglﬂsﬁ]a;a;mm

2 Beod ez SHLULY mmuﬁlmm Lm_@;\@m Gr@gjmgm@m
2135C& Mg (Heugm @G b uu_lam_]@gg Couanr(hd. UL BIGET UedTeUSDS
Cueréled LwemLI(hgSe,iD. i 4

Instructions : (1) Check the question paper for falmess‘o ?finting. If there is anX léck of fairness,
inform the Hall Supervisor 1mmed1atel', ‘ :

(2). Use Blue or Black ink to write and uﬁde;hne and pencﬂ to draw diagrams.

@iy : @meﬂmrrgsgrrerr E,ITGUI'@ L@ sameré @a;rrasm_g] |
Note : This questlon paper co;ntams four parts. )

o 4

@Oy : () agmmw a&]mrrasas@as@m aﬂmeeTﬂassagw b 14x1=14
e

(i) Qasrr@esa;uul_.@mm wmpp efenL sefle Lﬁlﬁmm FhyenLw elerLulenand
Coipas058i6 @GP aﬂml—"ﬂm%‘m‘@ww eT(pBELD.
Note : () Answer all the questions. ' |

- (i) ‘Choose the most appropriate answer from th
the option code and the corresponding answer ‘

_;four alternatives and write

[ $mys / Turn over
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8512 2

1. R={(x, x?) | x ez 13 @ L& GOpeurer LUsT eramaer) eranp e pailer

al&FssOTNg)
(=) {2,3,5,7) (=) (2,3, 5,7, 11)
(@) {4 9, 25, 49, 121} (rr) {1, 4,9, 25,49, 121)
The range of the relation R={(x, x%) | x is a prime number less than 13} is: ) _4 => @
(@) {2357 b 235,711
/@ {4, 9, 25, 49, 121} (d) {1, 4,9, 25,49, 121}

2. n(A)=m wHYL n(B)=n erafléd B -AMmpg A -6 cerupssIULL Frisefer
Qwrgg craneanilsEams :

v Ch-1
(=) mt (<) n™ (@) 20" ¢ () 2o 0 7’1,
- e
Let n(A)=m and n(B)= the total number of functions that exist from B to A is : rea

mn nm (o) 281 (@i 2=

3. wseallgen cu@dsd gemens Cappsdleiiiy, a HHID b erenp W& PPESEHES,
5al$s Wens WWPSSET q OHMID 1, a=bg+1 ETEAIHEUTY BEMOWLOTEITED, @EIG
rc%emgj . Cl’)"z =,>@
(31)1<r<b (=,)0<r<b (@) 0<r<b (FF) 0<r=<b
Euclid’s division lemma states that for positive integers a and b, there exist unique positive
integers q and r such that a=bq+1, where r must satisfy.
/) 1<r<b () 0<r<b 0=r<b (d 0O0<r=<b

4. @m &LB% Qsri aflewsfar 6 cugl e pliber 6 LLBGL 7 aug o mlber
7 LOLEI@GLD FoD eraflled, Si&sml h ng;ﬁmrﬂm&uﬁls&r 13 eugy 2y :

(1) 0 (26 @7 m 1 2@
If 6 times of 6t term of an A.P. is equal to 7 times the 7t term, then the 13t term of the A.P.
W

@ 0 S ®) 6 (@0 d 13

5. x2—2r—24 PO x2—kx—6-Gan B.Qumal (x—6) erafléd, k-ulen i :

(o) 3 N (=)5 (@) 6 (n) 8
If (x— 6)1stheHC1"'of:r2 2x—24 and x> - kx — 6, then the value of k is : Ch’ﬁ’)@
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3

@m Hlye <exflullen, Blenr Hlyed LrHDH 6wt :
(@) S0E Sienfl (=) epevavelliL. ojenfl

(@) Hre> Siewfl (fp) Heoy sienfl RN @

Transpose of a column matrix is :

(a)  unit matrix (b)  diagonal matrix

(c) column matrix @ oW tratrix

au L gHdr OrBGETHLD DS TP QFEIGSSTES AMDUD @)L 1D :

(=1) ewwid (=) Qar® Yerer] ’

(8) wpyeia (FF) mBmesr Ch- 4=

A tangent is perpendicular to the radius of a circle at the :
(@) Centre P Point of Contact
(c) Inﬁmty d) Chord

7x—3y+4=0 eTerp G‘rgr'r@&rrﬁ_tq_ﬁ)@_@mmurra;m& g sluyerefl euflé Qadg)bd
CrrCamigen Fwaum@ :
(24) 72 -3y +4=0 ; (=) 3x—7y+4=0 . Ch— &

(@) 3x+7y=0 .. () By = 0 | Crocive.
The equation of a line passing through the origin and parallel to the line 7x —-3y+4=0is:
s>

(@) 7x—=3y+4=0 ‘(b) (3x-Ty+4=0
(c) 3x+7y=0 7x—3y=0
(0, 0) HmID (-8, 8) era qgﬁaﬂ“g;a;s‘rr @mm$@m Carlynes QenEGssmen
Gamiigerm Friiey : L gli

B ch-52 P
(@) 1 (<) 1 e @) L8 |

The slope of the line which is perpendicular to a line joining the points (0, O) and (-8, 8) is:

[ : 1
(a) " =1 . 1 25 ey (@ -8

-

@@ Camrsden e LrsHbEh igen Hipalen Sasdp@io o drer eldlgb 3:1 erafle,
Gflwears srapib ahn&Csra SaTEUTAS : .
(1) 45° (@)30° . . . (@) %0° @? 60 Ch-6>

If the ratio of the height of a tower and the length of its shadow is \/3:1, then the angle of
elevation of the sun has measure :

@) 45° (®) 30° R %0 Y@ 60

[ §mLUys / Turn over
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8512 4

11. 15Qs.8. e wppwd 16 Qs.5. Al _Lpid CamaTL g(h Chieul L& FnlbL96 QUEGTLITLIL :

(=) 60 ™ &.0&.15. (<) 68 ™ &.Q05.15.

ch-#= (D
(8) 120 7 5.0&.15. (FF) 136 m .05,
The curved surface area of a right circular cone of height 15 cm and base diameter 16 cm is :
(a) 60 m cm? (b) ' 68 7 cm?

(© 120 7 cm? 136 2

12. 1088, gyyap, 5 0.8, 2 wrepd Qsra g Wy o maerudalmhs HHsILEE
sa1 ety QararL Csmerd Ceully arO&sLLGEDS craflé) 2iFem HT SH6Toy.
(85.0&..8. -é)

10 20
C) (@) 2 @) 5 (m)
The volume (in cm®) of the greatest sphere that can be cut off from a cylindrical log of wood
of base radlus 1 cm and height 5 cm is : , :
e wha

%w ® FT © 5w @

13. QaerHssiulLeeusafled erg FSeupreng ?

(=1) P(A)>1 (<) 0=P(A) <1 cheg -=,—>@
(@) P(4)=0 (FF) P(A‘)+P(K) =1 60

of the following is incorrect ? : :
\ P(A)>1 (b) 0s=PA)=1

P($)=0 (d) P(A)+P(A)=1

14. @@ pemTienLudléy T 2000 Grm_(Haer 1d—Lb, T 500 ‘Cg‘r_rarrl'_@ase'rr 15 -1b, % 200 Grr_(H&er
25 -1b e_emanar. @@ CHTL® swaumiliy wopuld ahssiuBSlamg aafle, oibs
Gpr_® T 500 CpriL_reCaur vjeeg T 200 (ngm_i_rra;CSQ_m @@uugmaﬂrw BEpssa,
erevTEn ? A /

1 O W 2 S
(=) 5 (s2) 75 (@) 3 (Frpd

A purse contams 10 notes of T 2000, 15 notes of ¥ 500 and 25 notes of ¥ 200. One note is
drawn at random. What is the probabxhty that the note is either a ¥ 500 note or Z 200 note ?

; 3 ! 2 4
@ = ® T @ 3 ‘ 5

Eh-€=>
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U@ - 11/ PART - 1

GOy : aemaCugl 10 damssEpse ol wellésab. dlam aear 28 -&@
SL_L_MWLDNS aﬁlml_uerﬂésasmm. \ 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15. A=(1,2 3} wpgd B={x|x eremig 10 -g oL @@Mjérr eTew} eredfleér, AXB -gé
&HTERTS.

ch-141

Ex s

( ‘
Let A=({1, 2,3} and B={ x|x is a prime number less than 10}. Find A x B

16. f(x)=2x+1 pOd g(x)=x>=2 eTaled fog WHMILD gof -@& SMES.
Find fog and gof when f(x)=2x+1 and g (x)=12—2. o)
£9 * 1-19
17. g puflib 532 yhQsm iy ser o ararar. Sjeum auflengéd@ 21 LHEST Igser 6igid
<(H&s eflmblberTi. erggener euflengser (ppend CUMILD eTaTayDd WHMID 6THSENET
LHOST 14 &6T LSS HEGLD TETO|LD SHTETs. Ch- 2 EXig.]=> @

A man has 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left over.

{

18. sl Bz E z

Ch-2 Ex:z.6 = 2 clil)

19.. A= G ;} B (i (3),] erafléd AB opmid BA sraws. Gogyb AB=BA eremg) gRlwmr

. > h : 3
CTaT <TG, , . Chc2

, s
HA:@ ;]'Bzﬁ g} find AB and BA. Verify if AB=BA. Eg : 2 0

[ $ly& / Turn over
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20. Qar@ésuuli uLgHe ZA-Ger GBFLGeLE AD g @w. BD=4 Q&.18.,
’  DC=3Qs.8 wppib AB=6 Qg.5. crailed AC -p& sreums.

;.st
pS §

B2Qs8 D 3Qs8 C
In the given diagram, AD is the bisector of ZA. If BD=4 ¢m, DC=3 cm and AB=6 cm,

find AC.

eh—4. Ej3:4-lb-

B4 m D 3cm €

21. (=2 a) wpmid (9, 3) eremp LeTailsem auplsbledgid CriGsmigen smie — % crafled

a -ullerm UL FHTeRTs. 1 i e e :5.2.__‘@'
The line through the points ( 2, a) and (9, 3) has slope — 7. Find the value of ‘a
\ )q
22. x—2y+3=0, 6x+3y+8=0 4w C%;_r,rr(‘éasrr@a;m @ansLsTan QFh@ssrama
T erang &TL(HS- Ch-5 : 3 5.2%

Show that the straight lines x—2y+3=0 and 6x+3y+8=0 are perpendicular.

5073 8. e WFEpeTer @ Lr@piar e AUSBHE 30° @péss Caramsde
P serudg@rer m&l@;ﬁﬂ @ UTT&EsLLBHADG ereafie, L&l (B HE D UTED& S LD
QeoL_Guwiujerer Glglrmaﬁmma TS,

From the top. of a rock 50y3 m high, the angle of depression of a car on the ground is
observed to be 30°, Find the distance of the car from the rock.

Ch— b @7 6.3 =(1D
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24. @ Csremusetian Lyrhiseflen elfsw 4 : 7 erafler Sieupdlen sar 2lemeysaflen 6lflgw

i srews. Ch-# E 7ﬂ->@
If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes. ks

25. 20 ?“b‘g"%’ @“"—*éf“ﬂm—é MWD 5 Q&8 @b, Sigen @ rhiser 4 Q.8
wppb 1 Ge.5 erefie, @mL&i&saim_ﬁsﬁsh QUENETUITLIGHLIS &ITeHTs;.

The slant height of a frustum of a cone is 5 cm and the radii of its ends are 4 cm and 1 cm.

Find its curved surface area.
Ch- E e 713

26. Qar@ésuulL uFeueler eS&Fsd sreams.

QWS

] : 16-18 | 18-20 | 20-22 | 22-24 ['2426 | 26-28
(eumLraseflev)

omessTeunSertl 6ot

sTevTERl B 6 &

{ Find the range of the following distribution :

Age (inyears) | 16-18 | 18-20 [ 20-22 | 22-24 | 24-26 | 26- 28

Number of Students 0 4 6 8 2 2

\ ] @ 20 smeLuilgierer 80 WwEpser, 70 Heauliy wHMIL 50 Qeudreaners Lésefembs
© swaumiuy wenudler e U CombsREED GCurg <ig Epse Bnli yeirs Gmés
Hlapssey Srems. 7
A flower is selected at random from a basket containing 80 yellow, 70 red and 50 white
flowers. Find the probability of selecting a yellow coloured flower. -
3 o il Ch-§ Crealive.

2, V8, \18, V32, 50, ...... 6T & Ggrrl_r'fdlﬂms RM Sl HH0sTLiteuflenswr

Qeeawr aaumg Cardss. Qg @ sl (s0sT Taufms calld igar QuTg
NHwrsd srenms. A

Check whether the sequence /2, J8, V18, 32, /50, ...... is an A.P or not ? If it is an AP,
then find the common difference. | (\Q 5\\ TCh g ’fizaﬁfye_
! !

(b !

:. [ Sgpliys / Turn over
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GOy : stmeuCugybd 10 cllamss @é@ e weallésan. alearm erawr 42 -&@

UL muwrs eflen_wef&Esea,ib. 10x5=50
Note : Answer any ten questions. Question No. 42 is compulsory.
29. Aeranug 8 - L& Gerpeuranr QUi eramaeion sawrd, B eranug 8 -@ €lL&

'

30.

31.

32;

www.Padasalai.Net www.TrbTnpsc.com

L@ - 111/ PART - III

GePpeuTar LST eramsafien Sewrld HMID C eramg) @yl enl L) Lenl LIST eTaursatien
SEWTLD erafled (A N B)xC=(AxC) N (BxC) erenueng &flum. Ch=2 Exu.l = ‘76?)

Let A = The set of all natural numbers less than 8, B = The set of all prime numbers
less than 8, C = The set of even prime numbers. Verify that (A N B)xC=(AxC) n (BXQ).

f:A > Beeamp sriurerg f(x) = %-1, oo auerunssuuBGins. Q@uE,

A=12,4,6,10,12}, B=(0, 1, 2, 4, 5, 9} =456 @m&éEbCUTE sriy f -8 GeTaimb
peonseiled GhHés.
(i) mrﬂa)atér Cerg seflen sewrid (i) oL cuenemnr

(i)  SALUEGSH LL LD (iv) euerruLLD

Let f: A — B be a function defined by f(x) = %4, where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9}. Represent fby

(i)  set of ordered pairs (i) a table e = Ex . i N @
(i) an arrow diagram (iv) a graph

3 xl x2 X X .
P17 X Py " xPy? x Py *=113400 @B Py, P, P, P, TaLer g eufensula
cgq.mu.)‘r_'r;g LST ramaer WHmID xy, Xy, Xs, X, TETLIGT PEsar arafle p,, p P
DML X7 Xy X3 x4 SEweupHlen wHULsmeTs Srawms. it 9
Ch-2 EX:Q.9= @
xl X, X x h 8‘2"}
Ifp ! xPytxp,° x P, *=113400 where p., p,, p,, p, are primes in ascending order
and xy, x,, x5, ¥, are integers, find the value of Py Py Py Py and x;, x,, xy, x
- _ | + S ¥y X
G0 (DBE STEWTE. 62+72+82+ ... 4212, 5P
s 2 $i X ; @ ‘
Find the sumofthe series 62+ 72+ 8244212 Ch=2 Ex: 9.9 > 14 cv)

Viciani® |

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

9 8512
| R e
33. A=, J wODID B =|-1 4 | crafed (AB)T=BTAT erenuensé sfuniss.
\ U 2
PR X ch-3 Eg :13-93
If £ —L : () and B=|-1 4 |, show that (AB)T=BTAT
: Oias 2

34. Garewr Qmewbays Copniams (s Himieys.
State and prove Angle Bisector Theorem. <h-4
N

35. (=4, -2), (-3 k), (3, —2) wpoibd (2, 3) yHw Q,osmmssmérr auflenswrss QsmerL
Brpsrsdlen Ly 28 & e@seT erafed, k -ufen IS &TeiTs.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are taken in the

order (—4, —2), (=3, k), (3, —2) and (2, ).
ch-5 EARA: &- l‘)@

36. (-3, 8) erenm yerafl euflF GlFeugibd, il iFaseiar s Ceul_(H& gier(Hsefer
Fa(Hgew 7 2 L wgoren CrrGsHTLig 6 SaTUT. el d &ramms.
A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through
(—3, 8). Find its equation. Bot+ YR w0

] ) 5 DS A . 3
37 ﬁ]®@55:smA+cosA+smA cosA=2

sinA + cosA sinA — cosA

. 3 . 3 .
Provethat:SII}-A+cos—A+Su?A COSA=2 Ch-4 Ex .. = 6C!I:>

SinA + cosA sinA — cosA

38. prgen eremm GuUmMludlwied rewTaulT g enemullen @MUDPLD gnibLseT 2 remeumy)
wrfl garewp o heursdarmi. wréflufer Berd 12 Qe.8. LHYDL 6N Lib 3 Qs.L8.
BGD. @eiGaumm sbfar 2wy 2 08.5. QméGwrad praer o (meaumssw
wréfller sear siaTemeus sreams. CI7 L2 e s

Nathan, an engineering student-was asked to make a model shaped like a cylinder with two
cones attached at its two ends. The diameter of the model is 3 cm and its length is 12 cm. If
each cone has a height of 2 cm, find the volume of the model that Nathan made.

[ SmLiys / Turmn over
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39,

s’

40.

41.

42.

www.Padasalai.Net www.TrbTnpsc.com

10

16 Qs.18. gy ryperer @i e Carsl UbS, eBESUULH 2 Gs.8. praperer SOl
UbBSISETTESLILILLTED, erdHHenet LipGIser HlenLs@wb ?

A metallic sphere of radius 16 cm is melted and recast into small spheres each of radius 2 cm.
How many small spheres can be obtained ? 6
g clfi e SE g : .29

FSWT wHPL eAFur Pmeumd 5 UM hiseled Qupp Qrds oA LQ LG &ET
weopGw 460 wHPIb 480 < @wWw. Gl Digen S 6flavsasmn e pepGw
4.6 LpYID 24 erafled, wWrmenLw QFwedpern, B@ps Hews saemn Qsrar gl 7

The total marks scored by two students, Sathya and Vidhya in 5 subjects are 460 and 480
with standard deviation 4.6 and 2.4 respectively. Who is more consistent in performance ?

ChmlE v . ¢:2 (9D

SO euuild 5 Sauliy Bipt LHFSEHD, 6 Qeuetenar Hmli LbgISEHD, 7 LUFS HIDL
LB&ISEHD, 8 MmUY Hm LbgsEsD 2 eremen. seumiili wenpuiler erLudedlBES)
806 Ubg ThssLLBEDg. SibsL Lbg,

() QeueTener

(i) &MUy Nw0g Heuliy

(i) QeueTenemwing @)eemined

(iv) Geusdtenemimseyld, SHLILITGEG|LD @d)é)rﬁﬂd) _
Bouuspsrar fapssesmand 8;rreﬁmba;.>

A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls.

One ball is drawn at
random from the bag. Find the probability that the ball drawn is

() white 3 ‘
(i) blackorred '/2 ' Aty - EX &’.3@
(i) not white A\ (2 ‘ :

(iv) - meither white nor black (<
(x—1?+(x—2)2+(x—3)2 = 0 erep ST G & epeOTaIsaT e B @i,

Determine the nature of the roots of the equation : _J_W
i & Ch-%8 Crect e
(-124 @22+ @32 =0 _24 LY

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.TrbTnpsc.com

11 8512

UGS - IV / PART - IV

GOy @ WG ellemés@Ens@h elenwellsseib. 2x8=16
Note : Answer all the questions.

43. (&) SgLussd BC=8 Qs.15, ZA=60° wppb £A -uler @mawCeal i wireng
BC -g D erenp yerafluiled BD=6 Q&8 erampeurm spdsdpg erafle,
w&Garenid ABC eauenys.

TNV
()4 Q&8 Prepetar el L euarpg <isar @wwusdHdmbs 11 CGs.8
Qsreedlgiarear @m Yarallows @hss. Sitiyaelld@mbs aul L s8ns
Qran(® QsrhCaTHseT auanys.

(a) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm. Ch-4 53 - 2.9

OR
(b) Take a point which is 11 cm away from the centre of a circle of radius 4 cm and draw

the two tangents to the circle from that point.
T : & Ch-—a Ex:4-4 ‘=>@

44. (=) 22-9x+20=0 erenrn GHLIRF FEILITL iGN QUMTLIL LD QUEMTHS ST PLPEVLD
Sreysafien TS Sams.
Sieg

(<) @m Cumbgl 50 £..5/wexfl ereim Srrer Caussdler LweNsdnsg. QE&OFT_TEsTeT
SMT-CHrb euenrULLd euerbgl, LaTalheiareupDenns &meTs.
(i) eSdlgsw wrhHdlemus Sres.
(i) 90 Pl usefler Lwenll&ELd SITD ereucuetay ?
(iii) 300 &8 HTSers LwaNés cralaueTey Crrb <y@w ?

(a) Graph the quadratic equahon x2-9x+20=0 and state the nature of solution.

OR Ch-2 Ex:.2.16 = 1€i)
(b) A busis travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and
“  hence find. Yo : o
(i) the constant of variation. A5 Ch-2 Eg i
(i) how far will it travel in 90 minutes ? VOO

(i) thetxmerequnedtocoveradwtanceofSOOkm

~-00o0-
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